
Tsi10M 

Time: 1.30 Hrs. 

Choose the best answer: 

a) 3 

number of elements in B is 

a) (8, 6) 

1) If there are 1024 relations from a set A = {1, 2, 3, 4, 5} to a set B, then the 

a) 

3) If f(x) = 2x' and g(x) = 

3 

2x2 

Commorn First Mid Term Test - 2024 

a) 0, 1, 8 

2) If ((a, 8), (6, b)} represents an identity function, then the value of a and b 

are respectively. 

a) 0 

term of the A.P is 

6) The value of 
a) 14400 

b) 2 

Tenkasi District 
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7) If xy-7 =3 is a 

a) linear equation 

b) (8, 8) 

b) 

c) cubic equation 

2 

then the possible remainders are 

1 

3x 

3x2 

d=32x+60y. 

Part - A 

b) 1, 4, 8 

then fog is 

4) Using Euclid's division lemma, if the cube of any positive integer is divided by 9 

b) 14200 

6x2 

Answer the following questions: [Any 5] 

[Q.No. 14 is compulsory] 

Part - B 

5) If 6 times of 6th term of an A.P islequal to 7 times of 7th term, then the 13th 

Determine its domain and range. 

14)Solve: x+y = 5; X-y= 1 

c) 4 

9) Find fog, If f(x) = X-6, g(x) = x*. 

10) Iff(x) = 2x-x', find (i) f(1) (i) f(2). 

c) (6, 8) 

b) 6 c) 7 d) 13 

(13+2+3+.........+15) - (1+2+3+.......+15) = 

2 

9x 

13) Find the sum to infinity of 9+3+1+...... 

c) 0, 1, 3 

d) 8 

c) 14280 

d) (6, 6) 

d) 
1 

12) Whích term of an A.P 16, 11,6, 1,......... is -54? 

Marks: 50 

6x2 

d) 1, 3, 5 

b) equation of circle 

8) A Relation R 0s given by the set {(x, y)/y = X+3, xe {0, 1, 2, 3, 4, 5}. 

7x1=7 

d) 14520 

d) not a linear equation 

11) If d is the highest common factor of 32 and 60. Find X and y satisfying 

5x2=10 
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Tsi10M 

Answer the following questions: [Any 5] 
[Qn.No. 21 is compulsory] 

15) Let A= {xeW/ x<2}, B= {xeN7 124) and C= {3, 5} 

2 

Verify (i) Ax(BUC) = (AxB) U(AxC). 

Part..C 

16) If f(x) = 2x+3, g(x) = 1-2x and h(x) = 3x prove that fo (goh) = (fog) oh. 
17) The sum of three consecutive terms that are in A.P is 27 and their 

product is 288. Find the three terms. 

18) The perimeters of two similar triangles ABC and PQR are respectively 36 cm 
and 24 cm. If PQ = 10 cm, find AB. 

19) Find the sum to n terms of the series 5+55+555+.... 

X+y+z =6. 
20) Solve the following system of Linear equations 3x-2y+z = 2, 2x+3y-z = 5, 

Answer the following question: 

21) Find the sum of the series 6+72+82+........212, 

7 

3 

5x5=25 

Part - D 

22) a) Construct a triangle similar to a given triangle PQR with its sides equal to 

of the corresponding sides of the triangle PQR. (Scale factor <1) 
(OR) 

1x8=8 

b) Construct a triangle similar to a given triangle ABC with its sides equal to 

SIvA Kuma. Sri Ros Maic Hss; 
Vala-6278o5. emha Tj st. 

3 

7 
of the corresponding sides of the triangle ABC. (Scale factor>1) 

www.Padasalai.Net                                                                     www.Trb Tnpsc.Com

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com

www.P
ad

as
al

ai
.N

et

www.P
ad

as
al

ai
.N

et

https://www.padasalai.net/
https://www.padasalai.net/


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

